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(KL) (3) () (B/v (mm) (HH) (%) (%)

1 10 3125 224 224 136 36 7.2% 20%
2 10 2,500 236 236 242 41 9.4% 16%
3 10 6,875 1,003 1,003 212 39 14.6% 35%
4 10 8,125 646 646 222 40 8.0% 0%
5 10 19,200 507 507 214 38 2.6% FKAIE
6 10 4,848 914 914 17.1 37 18.9% 77%
7 05 7,666 1,231 2,462 156 38 16.1% 26%
8 05 4,062 1,681 3362 16.3 37 41.4% 65%
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22.4 26.6 500 13.3 556  13.6 55.4 489 27.1 13.8 20.4 1.48

22.4 26.6 500 13.3 556  13.6 51.1 490 25.0 11.7 20.5 1.75

20.9 26.0 500 13 278  13.3 56.9 494 28.1 15.1 22.4 1.48

20.9 26.0 1000 26 556  13.5 47.4 994 47.1 21.1 40.7 1.93




